ORG1106AY Gynge - Giraf robinie
Date: 2022.04.07  Subject:

Rev: 2022.04.07  Drawing no.:

Page nr.: 1/4  Scale:
Paper: AL Drawing by:

O,

T
160cm |FH

Viewl
ORG1106AY_00

None

Jan Routh Sgrensen

o

Areal 53m?
Periferi 28m

Mounting

Copyright Elverdal A/S.

EN 1176

Elverdal

INFO

VIGTIGT: Hele anlagget skal samles far der stgbes beton

IMPORTANT: The entire facility must be assembled before mould in concrete
WICHTIG: Die Anlage muB komplett montiert sein, bevor das Fundament
betoniert wird




ORG1106AY Gynge - Giraf robinie

Date: 2022.04.07  Subject: Front I
Rev: 20220407  Drawing no: ORG1106AY 00 MO untin g E I Ve r d a I

Copyright Elverdal A/S.

Page nr.: 2/4  Scale: 1:30
Paper: A4 Drawing by:  Jan Routh Sgrensen

|
o
o
LN
\
) A
~1900 -
ol T I R
o o @
S o L
S LN
© Yy v
1200 _
Yy Y — < 0600 _

INFO

(®)
= VIGTIGT: Hele anlagget skal samles far der stgbes beton
EN 1176 IMPORTANT: The entire facility must be assembled before mould in concrete

<o
WICHTIG: Die Anlage muB komplett montiert sein, bevor das Fundament

160cm |FH ° - :
Areal 53m? betoniert wird

Periferi 28m




ORG1106AY Gynge - Giraf robinie
Date: 2022.04.07  Subject: Foundation plan

Rev 2022.04.07  Drawing nr. ORG1106AY_00 M O u n t I n g

Page nr.: 3/4  Scale: 1.75 Copyright Elverdal A/S. E I Ve rd a I

Paper: A4 Drawing by:  Jan Routh Sgrensen

- 9480 ;
A
R3850
2140
A
5 12 o
LN r o
< ~
™M ) N~

R1575

o INFO

° A 7 VIGTIGT: Hele anlagget skal samles far der stgbes beton

° a EN 1176 IMPORTANT: The entire facility must be assembled before mould in concrete
160cm |FH S5go® A

, g WICHTIG: Die Anlage muB komplett montiert sein, bevor das Fundament
é}fﬁ?gris%g“m - betoniert wird




ORG1106AY Gynge - Giraf robinie

Date: 2022.04.07
Rev: 2022.04.07
Lfb
Paper: AL

BOM
ORG1106AY_00

None

Subject:
Drawing no.:

Mounting

Copyright Elverdal A/S.

Elverdal

Page nr.. Scale:

Drawing by:  Jan Routh Sgrensen

Schaukel - Schaukel robinie

Gynge - Giraf robinie Swing - Giraffe robinia

D27 N

Antal/

Quantity/ ©) w16 skive
Betegnelse: Name: Bezeichnung: Anzahl:  Artikel/ltem# w16 skive©) ©) w16 selviasende motrik
Stolpe 180-200, 5000mm__ |Pole 180-200, 5000mm Pfahl 180-200, 5000mm 1 ELV75115034 238 :—l %
Stolpe 140-160, 2800mm _ |Pole 140-160, 2800mm Pfahl 140-160, 2800mm 2 | ELV75115035 Dubsko 1 Dubsko
Stolpe 140-160, 1750mm  |Pole 140-160, 1750mm Pfahl 140-160, 1750mm 2 | ELV75115036
Fugleredegynge 1200 Birds Nest swing 1200 vogelnestschaukel 1200 1 ELV75400019
Sjeekel Shackle Shackle 4 | ELV93000018
M16x240 bolt M16x240 bolt M16x240 Bolzen 3 | ELV01160240 18
M16 lasemgtrik M16 lock nut M16 Sicherungsmuttern 5 ELV90160000
M16 skive M16 washer M16 Scheibe 8 | ELV95170030 M16
M16x470 gevindstang M16x470 Fully threaded rod|M16x470 Gewindestange 1 ELV75000017 \/O evt. gevindstang. og
Dubsko Plug-in gliders Steckgleiter 8 | ELV97440000 to motrikker
Monteringsvejledning Mounting instruction Installationsanleitung 1 ORG1106AY

o INFO

VIGTIGT: Hele anlaegget skal samles fgr der stgbes beton

IMPORTANT: The entire facility must be assembled before mould in concrete
WICHTIG: Die Anlage muB komplett montiert sein, bevor das Fundament
betoniert wird

‘?Q:,naa?’ EN 1176
Areal 53m?
Periferi 28m

1
160cm |FH






